Use the Eviews file file19.wf1 for this question
Consider the following model

math4 = β0 + β1 lunch + β2 log(enroll)  + β3 log(exppp) + u

a. Test the presence of heteroskedasticity with the White test.

b. Assume that Var(u) = σ2 lunch, test the presence of heteroskedasticity with the Parks test.

c. Assume that Var(u) = σ2 lunch, test the presence of heteroskedasticity with the Goldfend&Quant test.

d. Assume that there is heteroskedasticity, then what is the OLS estimates with the right standard errors?

e. Assume that there is heteroskedasticity, then what is the (F)GLS estimates?

f. Assume that Var(u) = σ2 (lunch+log(enroll))2 , then what is the (F)GLS estimates?
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